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A young stag went to a pool to drink. As he bent his head to the water he caught sight of his reflection in the pool. His branching antlers filled him with pride and satisfaction, but his legs seemed poor in comparison, spindly and frail. He felt ashamed of them.

Just then the sound of barking warned him that huntsman were on his trail. He bounded off so fast that he could have left them behind had he not run into the woods. Here his antlers became entangled in the branches and he was easily caught. 

“How wrong I was,” he thought. “My legs which I despised, would have carried me to safety, but my antlers betrayed me.”

(Lesson to be learnt – we often make bad judgments because we do not see the true value of things.)

Questions:
1) A stag is the male of ________.

a) a deer

b) an elephant

c) a lion

d) a horse

2) Why were his antlers described as ‘branching’ ?

a) They were short.

b) They were long.

c) They were bent.

d) They were crooked.

3) Why was he ashamed of his legs?

a) His legs were shorter than his antlers.

b) His legs looked large and ugly.

c) His legs looked thin and weak.

d) His legs were thicker than his antlers.

4) How was the stag caught?

a) The dogs cornered him in the woods.

b) He ran into an animal trap.

c) The huntsman caught hold of his antlers.

d) His antlers were caught in the branches of trees.

5) What was the stag wrong aobut?

a) He was wrong about his legs being weak and useless.

b) He was wrong about the hunters wanting to catch him.

c) He was wrong about the woods.

d) He was wrong about the barking sounds.

